A researcher conducted a two-factor research study using two levels of factor A and four levels of factor B with a separate sample of n = 6 subjects in each of the eight treatment conditions.  The following table summarizes the results of the analysis, but it is not complete.  Fill in the missing values.

______________________________________________________________________
Source                                          SS                          df                     MS

______________________________________________________________________
Between Treatments                   620                    ________     

     Factor A                             ________              ________            _______    F = ______

     Factor B                             ________               ________             100          F = ______

     A x B Interactions                  120                    ________            _______    F =______

Within Treatments                  ________              ________            _______

Total                                            780                    ________      
